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M EEXARHERAFREEBEH R0 2 5
WA FER:101~114 B Bk
—. REA (5259)

WH: RIMERSHE, BAFSHEER, AFVRF—BRAEAIREEOER . SMEHE, §59 54,
AMFELERSN—BERAE, BARESTHE .

( ) LEREAIAX) =(2x° +5x - 1), HFIRAOBRLL 2x- 1898830 . (D1 (22 (3)3 (4.

( )2 () =2+ + 2% - 6x-9, FHHTER fOWER? (1)2x-1 @)2x+1 (3)2x+3 (4)2x-3
B5)x-9.

( ) AEEFREAERC +ad 495 +b=0F R - 1-2i, B AERNWERS (1)-1 -2 3)-3 @)-
4/ {5) =57

( ) 4.3 fix) =x* = 3x* = 163" + 3x + 35, G y = AORIBIFAE T EBEREE R 8E x B —E & HE5? () -1<x<0
(20<x<l (B)<x<2 (@2<x<3 (53<x<4.
( ) S A T — S B B ARG T EEEE? A=+ DE-Dx-2) (2f/x)=(x- D+
Dx+2) GY@=-G+DEx-DE-2) @Ffx)=E+1y x-1)x-2).
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y=£f(x)
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=. 388 (E20%)

WA BeZ2oM, BMEVA—BERRAEAY, SHEARR . M BERABALAZ, A
BRAHERE, F5o F61MEBRE, F39 B 2MAERE, F145 AASHAYEAHK
EREMSN2MERE, BHEAUEIFHE .

( ) 68ta, BEX+8x+4=0 IR, BITYEEMEFEM? (Da+f=-8 Q)a*+p'=56 (3)a’+p =-480
(4)£+%=14 G)YNa +B) =-4 .

(04
( ) 1 fORBEFRBEASER, Hr0+Bi)=0, MTFHRGRETEER? QY E) =015 &R
QI-Bi B f(x)=0H—1R 3 +2x +4 2 f(0)HER
OBREEHExHZ /(") =0 G)FES(0)>0 Hf(2)<0, HIf(4)<0.

( ) 8 FIUFRTFATEEIE? (1) BEATER ad+ 5x+b> ORI - <x <3, R b’ +ax + 1 <0 88

QP +3x+3>0 (3) ¥-200Zx+250 @) -F-2+3>0 (5)—==L 51

x“+x+1

( ) 9. FFHIMREE RS RIS 1 <x<3? (DEx-1x-3)<0 Qx-1)(E-3)<0 (B’ -4x+3<0
(4)x-1)x-2)>*x-3)<0 (5)2_x1>3'
i
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% BEARHBEAARTELLHARD 2 S

Ry BHE (55549)

WA FAZIM, X1 BERTLEHAS Y, FHFEl, AX2THRLS .

AFEBRBSIET x* - X + ? - 2k 2 HRARH—KINRK, Hi<o, Hlk= __ (00D _
B#&3Ix (-8 "+22x(-8)-12x (-8 +31x (-8 -ax(-8)+42=58, Hla=__ DD ;

x=2)(x-3)(x-4) +6_(x—1)(x—3)(x—4) 4. (x=1)(x-2)(x-4) v .(x-—l)(x—2)(x—3)
(1—2)(1—3)(1—4) (2—1)(2—3)(2—4) (3—1)(3—2)(3—4) (4—1)(4—2)(4—3)

C. EM=RZIHA f(x)=7'(

M) RKfG= _BOG____
) #AOBLL - Sx+ 6 Hud B ax + b, Al a-2b=____ (90)_____

G).ELIA0=0 10— AT, HATSEERE n 8l 1 20, B n 2 fEs

D EVIZIER AnBRLL x° — 4x — 5 FUBRTUES 3x — 20 BRLAx - 2 FOBRTNES 4, 35 ABRIL»® — x — 2 BOBRTNES ax + b,
Hla+b=

Ea, bBES, #a(l+2)+b(1-i)=5+i, {H]3a+2b=__ C)E) :

F 28 #e(m iRt x* =5 x° + b + ox — 6 = 0 HPUEFHEAEEIE, FZR 52 + b +ex - 6<0

HIfEES [<c<m B n<x <k 3R+ m+nt+k= @
G. a, beR, ——+——=—1, Hiath= & :
a+=bl_ 24¢ 1-2 ST ST

H fi#fR%st Qx-31) (x-4) 2x -5’ —4x +2) (P —x +2) <O A fHBBiE _ €OEC) :

IFRZER Y -4 +x+6>0 HERES @ <x< ] x> @




BEE I SHE AR P 10T E S 1R A% ——F A TRERIEER 1 (20181126100020101051) /2% 4 SEI %=
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A | = S | ERE 8BS | &7
213 L1 HES K| Shd | By | s |
BEERH | S 97, 0, 0 0] 125 0 0 0l 81.73%| 0.734 | 0.280
R | 5 | 980/ 0 11121 o] ) 0! 81.36% 0.762 | 0.168
BEERE | S 12| o 0 0] 119 | 0 0 0| 7891%, 0.727| 0.210
BEERE | S | 157, 0l 0 3[ 119 0o 0 2| 69.87% 0.661 | 0.343
BimE | S | 54 00 0] 126 | 0 0 0! 89.83%, 0.850 | 0.063
ZEER | S5 | 458 1] 138 39 0 1. 4463% 0399 | 0322
HEEH | 5 501 30130 95| 0 31 29.19%, 0301 | 0.294
ZE®EN | 5 261 51109 109] 0 3| 17.33%| 0.210| 0.308
ZHERA | S 439 1_39 % 0 | 1/1582% 0178 0231
BEY4HA 5 235 0l 0]103 0 0 0 0! 55.74% 0.507 | 0.427
H4HB 5 223 0 0l ol110 0 0 0 0| 58.00% 0.531| 0.476
BELHC 5 164 0 0 0]113 0 0 0 0 69.11%| 0.633| 0315
RESAD | 5 302 0 0 0] 98 0 0 0 0, 43.13%, 0385 | 0.601
 REEHE 5 374 0 0 0l 9 o] 0 0 0| 29.57%| 0357 | 0.545
RASEF | 5 140, 0 0 0 0]117 \ 0 0 0/ 0| 73.63%| 0.629 | 0378
REEHG | S 781 0 0/ o ol119 00 0 0| 85.31%| 0.790 | 0.084
REZHH | S 3000 0 0 0 0[102 0 0 0l 0| 43.50%| 0413 | 0.601
P 5 | 394 0 0l 0 0] 65 0 0 0! 0] 25.80%| 0.273 | 0.364
FE4H] 5 378 0l 0 0 0 0 0 0! 0| 28.81%| 0.276 | 0.259
LK 5 | 147, 00 0 0]114 0 0 0 0 0.633
|3 AA & i (2 i

0.329




